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Solution for Group- A

Q. 1 Consider Σ = {a,b} and the regular expression (a + b)*(a + bb). Gives the following: 

(i) Regular set (At least first ten elements of set) (ii) Finite automata

Answer 

(i) 
(a + b)*(a + bb) = {a, bb, aa, abb, ba, bbb, aaa, aabb, aba, abbb, baa, babb, bba, bbbb, ……..}

(ii) Finite Automata
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Q. 2 Find a DFA for the following language over Σ = {a, b} [image: image2.png]w € {a,b}" | n; W) mod 3 > n; (w) mod 3}




Answer
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Q. 3 Give the regular expression for the Language [image: image5.png]{a"b™In z4m =3}



     
Answer: aaaaa*(∧+ b + bb + bbb)                           
Q. 4 Construct a Mealy machine which can output EVEN, ODD according as the total number of 1’s encountered is even or odd. The input symbol is 0 and 1.
Answer: 
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Solution for Group- B

Q. 1 Give the finite automata and regular set for the Language [image: image8.png]{a"b™In z4m =3}




Answer
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Q. 2 Build the Automaton for a bank locker. The keypad contains three buttons 0, 1, and ENTER. The user enters her password using the buttons 0 and 1. After the password is entered, it is checked

 using the button ENTER. If the password was entered correctly, the locker OPEN, otherwise it remains CLOSED and the locker checker waits for the first input symbol. The password to the door is 10101.

Answer:
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Q. 3 Design a Regular Expression to accept L as follow:


L = {   x є {0, 1}* | x ends with 1 and does not contain the substring 00}

Answer:    (1 + 01)* (1+01) 
Q. 4 Give the Minimization of following finite automata, with the definition of equivalence of two states.
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